n00D0 100 #60

2 00000000 (OO0)

gbogbobuodbooobuoobooobuoobbodboo
gbob20000000bobo0001ogooobbooooboo
gbodbuodgbudg l1gbooboobuogbboobooboo
000 (0000)0000000000000000ooooo
gboobobogobbogbuoobbodgboobbodoboo
gobobooogn

21 00O

200000000 DO R2OODOOOOOOR2O00O0OD0
gogouobobboooguobbobiboooouobbbiodgo
odlogbooobo0o ROODDOOOOOOOOOOOOOD
gbobbuobogobogobboogubuoobbooboboo
goboo

HEN

D:{(:c,y)e]R2

1
O<x<1,—2<y<sin—}
x

OO000O00obOo00obOOoobooO0oooobooobobo obOODO
Oo00DoOOoO0O o opODOODOOOOOOODODOOOOODOOOO
gobbooooboboboooobo

D={(r,y) eER?|0<2<1,0<y<1,z€QyecQ}

39



OOooobOobopOODbObOOOOODOODODD

goooouobbbobbodoooouaoobobbbbodoo
ggodgoouoobbbobibooooououoobobobbibodoo
goo

00 2.1 [00000] 0000000000000 0200000
000000000000000000000000®W o000
gbbog3ugubbuooboobbuoabboodobban
goboboooobboood

pobOoobbOOo0oboboOoobLDmOobobOoobboobbon
ooooooooboobooooopoobobbD—-0oD0O DODO
0000000 D2opO0O0O0OO00OOOOOOOODNID =0
gbooboooobobodan

00000000000000000000000000000
000000000000000000000000000000
000000000000000000000000000000
00000000000000000000000 (000000
0ooo)o

00D000000000000000000000000000002
O0P=(r,y)D0Q=(,y)eR?000 PO QOO0 d(P,Q) 0O

d(P.Q) = /(& =2+ (y —y)?

goooad

(1) DDDD0dP,Q)>0000000 P=QO0000

(2) 0D0D00d(P,Q)=d(Q,P)

(3)300000d(P,R) <d(P,Q)+d(Q,R)
gdoddoudoooooooouooo 3goguoooooouoooao

O P=(zy,2),Q=,y,2)000

d(P,Q) = /(z —2)2 + (y —y)? + (+ — )2

000000000000 0O00CCODO0OoOOOooooOoOD (1) -(3)
goboobooooboobooonboo

00 220000000200 (00)0000000000ROOO
0@pooooooooooon

OopoooO0O0o0000000O000000000000000000000
000000oOooooon

OR™ = {(z1,...,2,) |2 €R(GE=1,...,n)} 0 nO0000000000ODO
P=(x1,...,2,) 00000020 P=(21,...,2n), @ = (y1,...,yn) 00O
00 dP,Q)=+(z1 —y1)2+ + (v, —y,)2 000000
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0000000 U(P) = {QeR?|d(Q,P)<e} 0 PO e-00
(e-neighborhood) D0 OOR?2 000000 AODODODO POODO &0
00 ADDDODODOOPO AOOO (inner point) 0000AODO

000000 ADDO mtAOOOOPO e 000 ADDOOOOO
00000000000 PO AOODO (outer point) 1000 ADDOO
0000000000000 (boundary point) 00000000000
00 oAD0O0DO

AO00O00ACADDOOOODAODOD (closedset) 0O0OO0AN
A=@QO0O0000 ADOOO (open set) DO OO

AD00D0000000O0O0 (connected) 100000 : 000 20
PQeADO0DDOO I=[a,b) 00 ADDDOODO f(a) =P, f(b) =
QUUDUODDODOOO

000000000 (domain) 0000D 000000 DudD O D
0000000000 (closed domain) 00 O0MOOO0000000O
{(z,y) eR?| 2 +3* <M} 000000000 (bounded) DOODODO
00

0000 *21 00 DOOOADOOOOD
) D={(z,y) eR?*|2? +y* <1}

(1
<mD={mweW
B)D={(r,y) eER?|0<2<1,0<y<1,7€QyecQ}

1
O<x<1,—2<y<sin—}
T

22 QJOoon

goobboboooobbooo 2000000000000000
00000 2000000000000 (00 30000000)0O
Ubd 00000000 20000 00000000000
gobooo

RZO0D000 DOOODOOOOOOO 200000000

f:D—R

O0000000000 100000000000 WOooooo
00000000000 20000000000000000OO 3
O0000000000000o0o000ooo0ooooooon
0 @Qg

00 23 [00] bpoooOoOoOoOO

f:D—R

Woooo00000 Gy ={(z,y,2) €R®| (z,y) €D,z2= f(z,y)} 0000
300000000000 w = f(vy,2) 000000000 Gy =
{(z,y,z,w)€R4|w:f(:1:,y,z)}[I[I[I 40000 R*0OD00O0DODOOO
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D0000P = (z,y) 00000 B = (a,b) 0000000 (O
0 dP,R)=+/(z—a?+(y—020000000000000)0
f(P)=f(z,y) 00000000 ADDOO (Jf(P)—A/ 0000
0D0o0000)00000000

Am f(P) =4, o m fle,y)=A,  lim f(z,y)=A
y—b

f(P)—A (P—hR), [f(z,y)—A ((z,y)—(a,D))

OD00000PO ROOOODODODO f(P)ODODOOO OO
200000000 10000000000000000000
D000000000000000D0000D0000000000
O000000000000000000000000000

10b0ob00ooobbobouooobbogao
00 24 (1) 00D0O0OO0OOO0OO0OODOO

1) jim (f(P)+g(P)) = lim f(P)+ lim g(P)

P—Py

2) lim kf(P)=k lim f(P)

P—>P0

3) lim (f(P)-g(P)) = lim f(P)- lim g(P)

P—Py PP Pt
lim f(P)
(P) _ P-R
9 fim g(P) 200000 fim -5 = = P

P—Py

() 000 f(P)<g(P)DODOD Jim f(P) < Jim g(P)

(3 00000000 f(P)<g(P)<h(P)DOD lim f(P) =
—10
lim h(P):ADDDD lim g(P)DDDDDDDDD AO0O00OO
P—Py P—Fy

goob =22 0024000000

025 (1) flz,y) = ﬁ () #(0,0) 0 lim - f(r.y) =

000000000 x = rcecosf,y = rsind 000000
00000 (x,y) — (0,00000000 00000000

GesDDDODODOOODO
Ve>030 >0VPeD 0<d(P,Py) <0 = |f(P)—A|<e

oood
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000 r »+000000000000 f(z,y) 00000

frsin 6
o000 f(x,y) = TEORTTANY — reosfsing 00 DO

r
lcosf] < 1,|sinf| <100

|f(x,y)| = |rcosfsinf| <r
Doo0r—+0000 f(z,y) 00000

zy
®) fey) = 2 (@) # (0,0) 100I00I00D
in gr cos 0
0000000000 f(r,y) = ——— 2" — cosfsing
T
DDDDHDDDDDDDDDDDDHz%DDDDDD

1
(r,y) — (0,00 0000 f(x,y)0O gmmmmmme—%r

1
000000 (zy) —(0,000000 f(z,y)0 ~5 000

gbobobooooobbboooobbboooaooboo
gbbboooobbboodod

00 26 0000000000000 0O0ODOOOOOO0O 25(2)
gbobbooogbbobuooogbbboo

lim lim f(z,y)

r—a y—b
O0ooooooboobooooobooboob yoboboonoo
Uz0 c UUOO0ODOD0ODOODOOOOOOOODODOODOOOO 20
yUoooooboobobbbbooooooooooooonbn
guoodoooooobooobood

gbud 23 00boboboboboobooboobooboo
gobobobooogon

(1) lim Ay t2 (2) lim 2ty
(@y)—=(00) T +y—1 (2,y)—(0,0) 2 + y?
@y)—11 (x—1)2+ (y —1)2 (z.y)—(00) 22 + zy + y?

x? + y2

5 lim @ ——— 7
(5) (@y)—00) 2+ xy + y?

00 2.7 DOD0OODOOO0 f(P) = f(z,y) 00 Py = (a,b) O
00000 (continuous) O O

Jim f(P)=f(R), 000 Jm  f(.y) = f(a.b)
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goobooooboooboob poooooboooo fo0 DODO
000000000000 0000000 (continuous function)
good

gbbuogobogbuogbuoobbooobbooobbo 1l
gboboboboooboboboboogboboboboooobo

00 28 [J0000] 000O0O0OO0OOOOOOOOODOODODOO
gooo

oooob 24 00280000000

10bogbbugoboodgbbuoobbubboobboo
gbobbuogbobuoggbbobuoogbbbooobobouoooon
gbobbooogbbboooobbboooobbooboood

23 00O

10000000000000000000000000000
00000000000000000000000 2000000
000 2000000000000029(000000)0000
00000000000000000210(000000)000
0000000000000000000 10000000000
00000 20000000000000000000 (0000
00)ooo0o

10000 0oooo0o0 = 00000
0oooo 0000000 < 000000
(0oooo) (0ooon)

000000 20000 f(r,y) OODDODDOOODODO 200000
goboboooobobodod

00 29[0000]00 z= f(z,y) O (z,y) =(a,b) D000 x
0000 (yOOOO)oOoooooo

fla+ h,b) — f(a,b)

:‘ .
4
o
=
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gbobobooggboobbobuooooboo

of o

or or r =

af 0z f

—_— - z

ay ay Yy Y
00000000 yO0ODODOODOOO0O0O0O0O0O0OOOOO
goddooooouoooooodo 1ouoouuoooooog

0000000000000 0000 (yOOOoOoO)oOOoOoOOoOO
gog

googbobooboobbooboobbboobooboo
gboobobodbooogbogobbooboobbooboo
goooo

vy .
Flz,y)={ 3+ (z,y) # (0,0)
0 (z,y) = (0,0)

gbgb 2.5 0OO0O00O0b0OOobodboboboobobobo
gbogobdodbooobuooobobuooboobobuooboo
gobooogg

10boboobbuooboobooob 2000000000
goboboooobbbdoo 21000obobooon

gbouogbogoboobboboboobuoobuoobooboo
gooboobl1obbbobbooooooobobbbbooo
goo

gboogbobdol1gbboobuodub 1buogboobbo
ggooobod

Lo

0000000 LO00O0LO00 1000000000000
00 @ = (z0,4) 0000L000000000(QO0O000O0)
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Oa=(e,0)0000L00000O0O0ODOOOOOOOOODOO
z=(r,y) OOODODO0O0O00 z—2, 00000 aO0O00OODOO
gobobobodooogodn

(T —xo,a) = (z — z9)a+ (y — yo)b = ax + by — (azy + byo) =0
c=arg+byy 0000
L={(z,y) e R?|ax+by=rc}

gbodbbobobobbobb 1oobobobbobboboo
gooboooon

gbogobol1goboobuogub 1ob00bogoboo
gobbooodgboo

0000000 LO00O0OD0LOO0 1000000000000
00 xo = (z0,y0,2) 0000LO00000O000O0 (0O000O
0)0 a=(a,b,c) 0000LO0000000O0000O000O0O
00 = (z,y,2) 000000000 -2, 00000 a000
000000000 00000

(T —x,a) = (z — 20)a+ (y — yo)b+ (2 — 20)c
=azx + by + cz — (axg + byo + cz) =0

d=axy+bys+czop OO OO
L={(z,y,2) ER*|ax+ by +cz=d}

gbodbbobbobbobb 1oobbobbobboboo
goobooon

O00 z2=ar+by+c00000000000y=00 z=-00
ggoobbbooouoobbibd z2=ax+cU00onoogg
O000D0 a0 2-00000000000000DO000O0CO0O b
Uyz-gdbbooogbobuoooobn
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00 210 [00000] f(z,y) 00 (¢,p) 00000000000
000000000 A4,B,C00000

fla+h,b+k)—(A+ Bh+ Ck)
Vh? + k?

e(h, k) =

goodd
lim e(h,k)=0
(h,k)—(0,0)
0000000000000 f(z,y) 0 (,b) 0000000000
2= A+ Bh+CkD 2= f(z,y) 0 (¢,b) 00000000000
goobbobbodogoobbbbooooubobobooog
guoodoooboobbbbtboooooooooboobbn

0000 2.6 f(z,y)0 (a,b) 000000000 f(z,y) O (a,b)

0 0
= an.c= o

0000000000A= f(a,b),B 5
Y

gooboooon

gooboobooboboboboboboboboobobob
gbobobbibooboobobuobobobuoobobobogbo

0o 211 f,f,00000000000C0CCOO0O fO0O0OO
gboobg

gobogo 2.7 00 211000000

oobd 28 0000 2500000000000000000
opoof
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